Controle

Calculer les expressions suivantes :

A =38++/80 +52 +7/5+1018

B =5v27 +44/9 —6/12 + 24/25 - 7/48
C=(5v3+32+18)(v27 -V12+ 72
D=(32-5) ~(v2+3) +18(L+2v2)-50
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Corrige du controle

A:3\/§+\/%+5\/§+7\/§+10\/1_8
A:6\/§+11\/§+5x/§+7\/§+30\/§
A=41J2 +115

B:5\/§+4\/§—6x/1_2+2\/2_5—7\/@
B=153+12-12/3+10-7x4/3
B=22-25{3

C:(5\/§+\/372+\/E)(\/ﬁ—\/§+7\/§)
C=(5v3+4v2+32)(3V3-243+742)
C:(5\/§+7\/E)(\/§+7\/E)

C=113+426

D= (3&—5)2 —(JE+3)2 +18(L+ 242) 50

D=18+25-30v2-2-9+6+2 +18+36+2-50
D=0
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E :(Js?-sﬁ)z ~(9v3-57)
E =574 243—6/57x 27 — 243— 57 +18/3x57

E =18/9x19 — 6+/81x19

E =5419 —544/19

E=0
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F=5[2-3
F=5(+3-2)
F=5V3-5V2




V6, 5
V23 2443
V6(V2+ 3)+5(ﬁ—\@)
2-3 2-3
G=—/12-18-5/2+5\3
G=-23-3/2-5/2+53
G=3/3-82
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V3(vV2-5) 5543
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